I | 2 | 3 | [ | 5 | 6 | 1 | 8
REFERENCE SPECIFICATIONS
-NFC 93425 (in compliance with HE 501) Series DBIVll 25SSOOIV|
Al PHYSICAL CHARACTERISTICS A
-INSULATOR MATERIAL: THERMOPLASTIC UL94V0
~CONTACT MATERIAL:  PHOSPHOR BRONZE, Shell size: EABC D
GOLD OVER NICKEL (see sheet 3)
-ACCESSORIES: STEEL FOR METAL BRACKETS, B
cadmium plated yellow passivation o
Front accessory definition
THERMOPLASTIC UL94V0 FOR PLASTIC BRACKETS (see sheet 2)
8 BRASS FOR OTHERS ACCESSORIES, Blak without accessory 8
cadmium plated yellow passivation ' X
L cthreaded insert M3
-SHELLS: STEEL,cadmium plated yellow passivation 0 “threaded insert UNC 4-40
v :female screw UNC 4-40
ELECTRICAL CHARACTERISTICS
Layout of contacts (see sheet 3) —-—J =
-NOMINAL CURRENT: 1.5A 9.5.25,37.50
~CONTACT RESISTANCE:  <1.3 m Ohms e
Contacts
-CONTACT/CONTACT : >=1000 V S ‘Socket
C -CONTACT/GROUND : >21200 v Termination fype C
-INSULATION RESISTANCE: >=5000 MOhms 5 Righf ongle/Europe standard
ENVIRONMENTAL CHARACTERISTICS Plating
- CLIMATIC CATEGORY: 55/125/56 00 Right angle 500 matings/unmatings ]
TEMPERATURE RANGE -55°C TO +125°C 43 5;?“;0:’:?':nf?roognm“;n'*"gs/”"m“f'"95
DAMP HEAT STEADY STATE 56 DAYS
o SALT SPRAT 45 HOURS PCB accessories definition(see sheet 2) 0
Blank Plastic brackets
MECHANICAL CHARACTERISTICS c “Without brackets
RETENTION AGAINST TORQUE: -Threaded insert:0.7 N.m min M Metal brackets
. -Female screw:0.5 N.m min |
E E
@_ OO0 ® @@@@@@ @ —
Lkl elerlelere
g
2 25 WAY  for Exomp\e surface - tolerance std [projection
s www. fciconnect.com 150 1302 150 406 SO 1101 @6 mm
5 TOLERANCES UNLESS OTHERWISE SPECIFIED T —
< Dr [N PESSON 12006/ 1714 |0 "] 0.1 303 |size Scale
F i M‘%_m::‘“m Eng | P LEGARE 2006/11/14 LINEAR [ o.xx £0.1 A2 2.1 F
- “Fehe | P LEGARE 2006/11/14 Jo [22 0. XXX +0.05 ECN LS08-0014
8 g o e T Yoo [P LEGARE | 2006/ 11714 |Product fomily spec ref
. ° Rev
'g = SUB FEMALE DM HES01 series|® () g637.1735
[~ with right angle contact S — B
— - - - - catalog no - CUSTOMER fsheet 1 of 9
R | 2 | 3 | . | 5 | 6 | 1 | 8

Downloaded from AffOw.Com. PDM:FR&REB:B  sTaTusRETB@8eehsedprinted?jufed 7, 20148, 2015


http://www.arrow.com

I | 2 | 3 | [ | 5 | 6 | 1 | 8
7 7
A = = A
Q| |
% % %
o — = = N
| | 3
8 | == — A I S— 8
I B
| | | | |
I I I I 4‘7
- 2310 £0.| . P10 0.1 | —
: L insert M3 ) L insert M3
Without Blank
FRONT ACCESSORY Blank O insert UNC 440 V Female screw UNC 4.40 Without O insert UNC 440 V Female screw UNC 4.40
c PCB ACCESSORIES C Without C Without C Without M Metal bracket M Metal bracket M Metal bracket c
[= \ [= \ [=
—
0 E 2 2 0
“= = I P -
g g g = | v .
I < ; E\\z‘ﬁ‘
- % §m— -
| | N
I ! N | N
NN
QSIOiDI I £
E
FRONT ACCESSORY | Blank Without L imsert s V Fenal NG 4. 40
? ithou O insert UNC 4 40 emale screw .
PCB ACCESSORIES Blank Plastic brocket Blank Plostic bracket Blank Plostic bracket
g
=.. surface - tolerance std fprojection mm
‘- e t. 150 1302 150 406 1SO 1101
5 " creennec con TOLEM ES UNLESS OTHERWISE SPECIFIED @E W —
b Dr |M PESSON 2006/11/14 0.X +0.3 size Scale
F Eng | P LEGARE 2006711714 [ A Linear o 0.1 A2 2:1 F
Chr | P LEGARE 2006/11/14 a'Iiz' 0. XXX +0.05 ECN LS08-0014
Appr| P LEGARE 2006/11/14 JProduct Fo_mIIy -fSpec ref
© ° Rev
SCALE: 4 'g 2 SUB FEMALE DM HES0! series S C01-8631-1736
: [~ with right angle contact o — B
— catalog no - CUSTOMER fsheet 2 of 9
o I 2 I 3 I ! I 5 I 6 I I 8

PDM:FR&RB B  staTusRETEeai8eehsedprinted’joked 7, 20188, 2015

Downloaded from AFfOW.com.


http://www.arrow.com
http://www.arrow.com

Downloaded from AFfOW.com.

2 | 3 | 6 | 1 | 8
A
. FRONT PCB Contact number FRONT pCB
PART  NUMBER ACCESSORY ACCESSORY XX PART ~ NUMBER ACCESSORY ACCESSORY
D*¥Mxx$500C without without DxMxxS543C without without
D*MLxxS500C insert M3 without 09 D*MLxx$543C insert M3 without
8 DxMOx x$500C insert UNC 4.40 without ) DxMOxxS$543C inseri UNC 4.40 without
D*MVxxS§500C female screw UNC 4.40 without 25 D*MVxxS§543C female screw UNC 4.40 without
D*MxxS500M without Metal bracket 37 DxMxxS543M without Metal bracket
D*MLxxS500M insert M3 Metal bracket D*MLxxS543M insert M3 Metal bracket
D*MOxxS500M insert UNC 4.40 Metal bracket 50 D*MOxxS543M insert UNC 4.40 Metal bracket
D*MVxxS500M female screw UNC 4.40 Metal bracket D*MVxxS543M female screw UNC 4.40 Metal bracket
D*MxxS500 without Plastic bracket D*MxxS543 without Plastic bracket
c D*MLxxS500 insert M3 Plastic bracket D*MLxxS543 insert M3 Plastic bracket
D*MOxxS500 insert UNC 4.40 Plastic bracket D*xMOxxS543 insert UNC 4.40 Plastic bracket
D*MVxxS500 female screw UNC 4.40 Plastic bracket DxMVxxS543 female screw UNC 4.40 Plastic bracket
0 CROSS REFERENCES HES0! and FCI
. FRONT
HESO1 P/N FCI7P/N ACCESSORY ACCESSORY
HESO0IPxxVS6 DxMxxS500 without Plastic bracket
HE50 IMxxVS6 D*MxxS500M without Metal bravket
E
3
=.. surface - tolerance std fprojection
S www. fciconnect.com 150 1302 150 406 IS0 1101 mm
5 TOLERANCES UNLESS OTHERWISE SPECIT IED @E} —
[~ Dr |M PESSON 2006/11/14 NGULAR 0.x +0.3 size Scale
F Eng | P LEGARE 2006/11/14 LINEAR | o.xx 0.1 A2 2:1
Chr | P LEGARE 2006/11/14 a'\iz' 0.XXX +0.05 ECN LS08-0014
Appr | P_LEGARE 2006711 /14 JProduct family -§Spec ref
© e Rev
= SUB FEMALE DM HES50! series - CO1-8637-1736
[~ with right angle contact o — B
— catalog no - CUSTOMER fsheet 3 0f 9
2 | 3 | 6 | | 8
PDM:PR&RE3:B  sTaTusRETea8eehsedprintedinied7 2148, 2015



http://www.arrow.com
http://www.arrow.com
http://www.arrow.com

I | 2 | 3 | [ | 5 | 6 | 1 | 8
DIMENSION FOR SHELL E,A,B,C WITHOUT BRACKET
A ?0.63 40.03 go A
- Dimensions are in millimeters
= 1016 +0.25 +0.57 +0.25 0.5
= SshiezIeI N(uom”b:ar”osf A B Coxo2 [F o G H Io
7] [ ] 09 [30.43 |16.21 [24.99 |10.64 | 6.05 | 19.02 B
A |5 38,76 |24.54 |33.32 10.64 6.05 21.25
8 B 25 52.65 |38.25 |47.04 10.64 6.05 41 .02 8
C 37 68.94 |54.71 |63.50 10.64 6.05 57.45
H
= [ T N [
IR i - C
7ﬁﬁf I Ifﬁ =
T | T o]
f f I I I - -
: H
) = - )
) = 5 00 405 N LAYOUT DIMENSIONS
B0.9 mini
2o ( PR ETYSER T .38 shell 25-37
= - oo B = 2. 14 shell 09-15 1.37 shell 09-15 B
8 - -
T 216 shell 25-31 - ‘
~ | o I I o%ooooIoooooo
A 274 shell 09-15 - |
- 0O 000 0O 00 0O0O0oO0
E 7 N ? E
i |
& Q@@@@@@@@@@@@@\/ -y L
: &©©©©©©I©©©©©©J + '
: ] 8 | J | -
S www. fciconnect.com 150 1302 150 406 SO 1101
g Dr |M PESSON 2006/11/14 IOLEMES a OIHE(IWXISE WEZIIISED s?a -Scj-
F | 38 shell 25-37 Ens [ P LEGARE 2006711714 | "M Linear [ oa | 2o A2 2.1 F
Chr | P LEGARE 2006/11/14 o Ii?' 0.XXX +0.05 ECN LS08-0014
.37 shell 09-15 Appr| P LEGARE 2006/11/14 JProduct fa_mIIv -§Spec ref
SCALE:3 = SUB FEMALE DM HESOI seriesl® (o gca 736 |
- with right angle contact S — B
— catalog no - CUSTOMER fsheet 4 of 9
S I 2 I 3 I ! I 5 I 6 I I 8

Downloaded from AffOw.Com. PDM:FR&REB:B  sTaTusReTe@a8eehsedprinted?oted 7, 2188, 2015


http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com

| [ 2 | 3 | . [ 5 | 6 | 1 [ 8
DIMENSION FOR SHELL E,A,B,C WITH METAL BRACKET
?0.63 40.05 =
A E— o A
ﬁ Dimensions are in millimeters
= Shell |Number of | 4 1918 B 0.2 C xoz | T e 6 0.2 TR
size contacts ' 0
E 09 30.43 |16.21 |24.99 10.64 6.05 19.02
A [ 5 38.76 |24.54 |33.32 10.64 6.05 21.25
8 ) 25 52.65 |38.25 |47.04 | 10.64 6.05 41.02 8
C 37 68.94 [54.71 ]63.50 10.64 6.05 ST.45
H
= 7.2 0.1 F —
e e <o I @ (=g
| = & | _MMAEIRERARERRRAOAL N : C
: | [ 1 ? [ ! 1 j
B (- ; ] frﬁm] bt
[ o T o [
c I | | el
+ ; } +
0 ) - LAYOUT DIMENSIONS 0
- 4.00 0.9
20.9 mini
@ ¢ R BT NREITEY .38 shell 25-37
. o | TF B = 274 shell 09-15 [.3T sheil 09-15] [~
: o >
?:) : S L - - o\)oooo‘oooooo
: ; 2.T4 she T 05-15) {% 000000 Q§OO0OO0OOb O @7
€ — BN ? €
Q@@@@@@@@@@@@@\/ o Ly s ‘
&@@@@@@;@@@@)@@/ &2 '
¢ | =TT = ‘ i
T i S
% " fc feennee + eor ‘:ZLE‘E ES UNLESS OT‘::W‘\OSEE W‘::F‘\‘EQD‘ @E W —
” F | 38 shell 25-37 EDn’g ’:Egi(ﬁ)g ;gg:;::;:j NGULAR LINEAR uc.xxx iz? " A2 5‘2‘:’“9 F
Chr | P LEGARE 2006/11/14 o \iz' 0.XXX +0.05 ECN LS08-0014
.37 shell 09-15 Appr| P LEGARE 2006/11/14 JProduct fo_m\\v -fSpec ref
SCALE:3 = SUB FEMALE DM HESOI seriesl® (o gca 736 |
@: with right angle contact S — B
_ Tolalog n | CUSTOMER Joreer 5o &
SN S S [ T S N S S I

Downloaded from MEEm— PDM:FR&ReB B staTusRETeai8eehsedprinted’jofed 7, 20188, 2015


http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com

I | 2 | 3 | a [ 5 | 6 [ 1 [ 8
@063 4005 = DIMENSIONS FOR SHELL E,A,B,C WITH PLASTIC BRACKET
A ﬂmﬂmﬂﬂﬂmﬂmﬂfm}rﬂﬂmmﬂmﬂmﬂmﬂ i Dimensions are in millimeters A
80 L 2 L L L TR - . + A N
e =sxungssssnsngssnnny sy el I Stetftmber ot | 4 5 G D 0w [ G HG
lillilnalanatanstantanatansUanstanatanatanatamit size | contacts
. ’ ] I E | 09 [30.43 |16.21 [24.99 |10.64 | 6.05 | 19.02 -
M A= A [ 5 38.76 |24.54 [33.32 | 10.64 6.05 21.25
B 25 52.65 |38.25 [47.04 | 10.64 6.05 41.02
8 8
C 37 68.94 |54.71 |63.50 10.64 6.05 ST1.45
i
. 1.2 401 ~ —
F
( =
c = @ : c
Bl |
= | |
e
i \ S
0 - Tz LAYOUT DIMENSIONS 0
- 4.00 £0 — B0.9 mini
¢ 276 shell 25-37 L.38 shell 25-37
7 B = 774 shell 09-15 .37 shell 09-15 —
< =1 N
7 S —— l o\)oooo‘oooooo
= 274 shell 00-15 —{% R N @)—
E — ram I ? E
g |
= Q@@@@@@@@@@@@@\/ o L
= &@@@@@@;@@@@)@@/ & -
1 =T | )
=. muuuuuuumuummmum mmmmmuu — ) surface - tolerance std fprojection mm
% " fc feennee + eor ‘:ZLE‘E ES UNLESS OTL{S:W‘\GSEE W‘;:F‘\‘EQD‘ @E —
F | 38 shell 25-37 EDn’g ’:Egi(ﬁ)g ;gg:;::;:j NGULAR LINEAR uc.xxx iz? " A2 5‘2‘:’“9 F
Chr | P LEGARE 2006/11/14 a'\iz' 0.XXX +0.05 ECN LS08-0014
1.37 shell 09-15 Appr| P LEGARE 2006/11/14 JProduct Fo_m\\y -Spec ref
SCALE:3 'g; SUB FEMALE DM HESOI series|® o\ ge37.1736 |-
- with right angle contact S — B
— catalog no - CUSTOMER fsheet 6 of 9
T | 2 | 3 | [ | 5 | 6 | | 8

Downloaded from Arffow.com. PDM . HR%M ‘B STATUSﬂ@TéagedisedPrinted?UUﬁﬁ(iV,Mé& 2015


http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com

I | 2 | 3 | [ | 5 | 6 | 1 | 8

. 0.63 40.05 DIMENSTONS FOR SHELL SIZE D WITHOUT BRACKET (50 CONTACTS)

= =4

LAYOUT DIMENSIONS

=
===
=5

(g

A
%
T

|.38
E = 30.9 mini 2.76

OO\OOOOOO?OO(JD(J)OOOO

i
} O O O O O O 0O 0o oo oo o0 oo @*
]

O O O OO0 O 0 O O O O O O O o0 O

i

| o
i @ b Ll@ @lw@g

=
=

@744 —t=
=
@7
@744 —=—
& |
1331,

8 £0.10
23|

(2]
I.5 max
+0.2?
‘ 0.8 0
407
==
|
\
2.54 4
2.54 0.
(a]

I1.6
10.3 402

+0.52

0 iy - 5 0
61 1] £ < P L ——
+0.25 o
52.30
= 3
E 8 / N = E
4 HClClCIOICICICIGICICICICICIGICIOIE)
E} = (D ”@@@@@@@@@@@@@@@@fﬁ{&“H
= ‘ ”@@@/
g =
: L AR, A R
- ci t. 150 1302 150 406 1SO 1101
s " creonnec cor TOLEM ES UNLESS OTHERWISE SPECIFIED @5 —
< Dr | M_PESSON 2006711714 F o 0. 0.3 [size Scale
F Eng | P LEGARE 2006/11/14 LINEAR | o.xx 0.1 A2 2:1 F
‘38 2 76 Chr | P LEGARE 2006/11/14 a'[tz' 0. XXX +0.05 ECN LS08-0014
4_—7 . Appr | P_LEGARE 2006711 /14 JProduct family -§Spec ref
SCALE:3 2 SUB FEMALE DM HES01 series|® () ge37-1736
' = with right angle contact S — B
— catalog no CUSTOMER fsheet 7 07 9

T [ = 1T 5 1T T T e [ =

PDM:FR&RB B  staTusRETEeai8eehsedprinted’joked 7, 20188, 2015

Downloaded from AFfOW.com.


http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com

I | 2 | 3 | [ | 5 | 6 | 1 | 8
0,63 005 DIMENSIONS FOR SHELL SIZE D WITH METAL BRACKET (50 CONTACTS)
A A
L
e e i sl e et S — E 3 00,90 77 8
B Hwi\}‘iH‘iw‘\}‘i\}‘iH‘iH‘i _ o 0T B
@ \@\@‘@\@‘@\é‘@\@ @\$‘@\@‘@\£;‘@\@‘ @ i’;o : O O\O O O O O O ? O O 6 6 O O O|O
l)i)é(l)bl)éé})l)é(lé)l)ééé} i Q © 000000000000 O0O00 {D
\\ = O O O O O O O O O O O O O O O O i
[ [ |
8 s, £0.10 8
55.07 ™ 23.1
66.55 "
7 6 00 +0.1 B
. |
c il c
e 1 g Tiii
e 3 %} ‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘4»3%7 ‘ H‘ i =
o~ L\ D <| |
— — [ 74 =
\
i)
0 - 0
TR L §D 5 E Ly =
52.30 = = 2
- ~ = 8.6 +0. -
€ - - “‘J €
5 ﬂ@@‘
E}l = @) | ‘eeveoceskesosese— (D
o "@@@”
e f _
i o on e @)
F T T TIITAT s [ S = MY BT 1
‘ 38 Chr | P LEGARE 2006/11/14 Qo [£2° 0. XXX +0.05 ECN LS08-0014
R 2.16 appr | P LEGARE | 2006711714 Prc‘:ducf Tomiiy Aspcc et
SCALE:3 'g; SUB FEMALE DM HES501 series|® () g637-1736 Rev
' - with right angle contact S — B
— catalog no CUSTOMER fsheet 8 of 9
i I S I T S N N S R [

PDM:FR&ReB B staTusRETeai8eehsedprinted’jofed 7, 20188, 2015

Downloaded from AFfOW.com.


http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com

I | 2 | 3 | [ | 5 | 6 | 1 | 8
D 6s L00s DIMENSIONS FOR SHELL SIZE D WITH PLASTIC BRACKET (50 CONTACTS)
A A
LAYOUT DIMENSIONS
.38
E = 80.9 mini 2.6
7 ; OO\OOOOOO?OOJDJDOOOO B
5\‘ O O OO O O O O0O!'o 0o OO0 OO0 O ‘@*
O O O O O O O O O O O O O O O O
8 £0.10 8
331
- 66.55 17 " -
4 N ]
5 N I I I I I I I I I I I I I I I I I -
{47 - : ; °
= I ! ‘\\\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘\‘ ! = 3
f { | o~ _—
| ‘ | 5 L
)] ?_: B < _ ii: 0
L = 4403 2 =
52.30 0%
_ . 8.6 401 =
E =4 | NJ
3 ﬂ@@
? - @) | ‘eeveoceskesosese— (D —
= "@@@”
g = — |2
: e PRI A
‘; www. fciconnect.com 150 1302 150 406 SO 1101 @’E mm
Tk e N I T e Y
‘ 38 2 76 Chr | P LEGARE 2006/11/14 o \iz' 0. XXX +0.05 ECN LS08-0014
RS : appr | P LEGARE | 2006/ 11714 |Product fomily Aspcc et
SCALE:3 @ = SUB FEMALE DM HES501 series|® CO1-8637- 1736 Rev
' - with right angle contact S — B
— catalog no - CUSTOMER fsheet 9 of 9
S | 2 | 3 | : | 5 | 6 | | 8

Downloaded from AFfOW.com.

PDM:FR&\RH B

sTaTusRETBaI8elehsedprinted?j0fed 7, 20188, 2015



http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com
http://www.arrow.com

